PSU Math Relays 2023 Trigonometry Team Team Member #1

Select the letter of the most appropriate answer and shade in the corresponding region on
the answer sheet. NO CALCULATORS

1) If cos(B) = ? and 0 < 8 <90, what does cos(26) equal?

a) —? b) \/—j c) 2 d) % e) none

2) If cos(f) = —% and 180 < 6 < 270, what does sin (9) equal?

2

Vs 2V5 c) V5

1
a) Y b) e d) > e) none

3) Evaluate cos(15°)

a) 2;@ b) — Z;E c) — 2-V3 d 1++2 e) none
4) Evaluate tan [cos‘1 (%)]
a) @ b) E c) ﬂ d) @ e) none
19 3 3 4
5) Evaluate sin (1“—2) + sin (117—2”)
V2 V6 V2 V6
a) B b) Y c) Y d) B e) none
6) Evaluate sin(225°) cos(75°)
a) 1+/3 b) ~V3-1 c) Y3+ d) _%3 e) none
4 4 4 2
7) Simplify cos(—28) cos(8) — sin(—26) sin(8)
a) cos(—30) b) sin(8) c) sin(—36) d) cos(—0) e) none

8) Write an equation for the graph. Y

a) y = 2cos(20)
b) y = 4 cos(40)
c) y = 2sin(20)
d) y =4cos(49) -
e) none 3
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PSU Math Relays 2023 Trigonometry Team Team Member #2

Select the letter of the most appropriate answer and shade in the corresponding region on
the answer sheet. NO CALCULATORS

9) If tan(@) = —g and 270 < 6 < 360, what does tan(26) equal?
3
a) g b) —? c) —V/3 d) 2 e) none

10) If sin(@) = % and gs 6 < m, what does tan (g) equal?

334 3 5 3
a) YR b) P c) 3 d) -z e) none

11) Evaluate sin(75°)

2—/2 2++/3 2—/2
a) — V2 b) 3 c) V2 d 2++3 e) none
2 2 2
-1 25
12) Evaluate sec [cos (T)]
\5 T T V5
a) > b) > c) -3 d) 5 e) none
13) Evaluate sin(165°) — sin(105°)
2 2 6
a) —£ b) £ c) _Ye d) £ e) none
2 2 2 2
. b4 3
14) Evaluate sin (E) cos (T)
1 -V/3-1 1-3 1
a) > b) 2 c) 2 d) -3 e) none
15) Simplify cos(6v) cos(—3v) + sin(6v) sin(—3v)
a) sin(3v) b) cos(9v) c) cos(3v) d) sin(9v) e) none
16) Write an equation for the graph. y
1 6 1. (6
a) yzzcos(z) c) yzzsm(z) i
1 o 1. (8 ™ /\
o y=tesl) @ y=ten() AR
e) none -1




PSU Math Relays 2023 Trigonometry Team Team Member #3

Select the letter of the most appropriate answer and shade in the corresponding region on
the answer sheet. NO CALCULATORS

17) If cos(0) =§ and 270 < 6 < 360, what does tan(26) equal?

24 7 24 24

a) ~ s b) ~ 3 c) —~ d) - e) none

18) If tan(0) = 226 and 0 < 6 < Z, what does tan (Q) equal?
11 2 2
V26 \/195 V30 V26
a) — b) — c) — d — e) none
13 15 2 2
19) Evaluate tan(285°)
— 2—+v3
a) —2—\/§ b) — Zzﬁ c) 2\/_ d 2++3 e) none
-1 s
20) Evaluate cos [tan (Z)]
w

a) > b) w c) 0 d) —2 e) none

21) Evaluate 2sin(165°) cos(135°)
3+1 —/3+1
a) \/_2+ b) V3 c 1 d) C+ e) none
13w 51
22) Evaluate cos (?) + cos (E)
2 6 2
a) —£ b) £ c) £ d) _Ye e) none
2 2 2 2

. . tan(—4u)—tan(—3u)
23) Simplify 1+tan(—4u) tan(—-3u)

a) tan(5u) b) tan(u) c) tan(—4u) d) tan(—3u) e) none
24) Write an equation for the graph. A

a) y = 3sin(36) d) y = 3cos(26)

b) y = 3sin (g) e) none P »\s = 7/ e

c) y =3sin (g) z \_/




PSU Math Relays 2023 Trigonometry Team Team Member #4

Select the letter of the most appropriate answer and shade in the corresponding region on
the answer sheet. NO CALCULATORS

25) If cos(f) = —% and 90 < 6 < 180, what does tan(26) equal?
9 Ny 42 7
a) - b) T c) 5 d) 5 e) none

3

26) If cos(f) = —1—53 and Tt <6 < 2", what does cos(26) equal?

169 120 119 119
) _E b) —m C) —m d) _E e) none
27) Evaluate cos (Z—Z)
2—V3 2+V3 2+/3 2—3
a) — 5 b) — 3 c) > d) > e) none
_1 (V10
28) Evaluate tan [cos (F)]
10
a) V10 b) 3 c) g d 0 e) none
29) Evaluate 2 cos (Z—Z) cos G)
1-v3 —-/3-1 3—-1
a) —\/_ b) V3 c) ¥3 d —V/3 e) none
2 2 2
30) Evaluate cos (117—:) — cos (1”—2)
2 2 6
a) —£ b) £ c) £ d) _Ye e) none
2 2 2 2
. . tan(260)—tan(—0)
31) simplify T 28) tan(=6)
a) tan(—96) b) tan(30) c) tan(6) d) tan(460) e) none
32) Write an equation for the graph. )
a) y = 4sin(0) d) y = 4sin(40) )

b) y = 4sin (g) e) none

o =o) A
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1)
2)
3)
4)
5)
6)
7)
8)

D
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Team Member #2
9) C
10) C
11) B
12) A
13) A
14) C
15) B
16) B

Team Member #3
17) C
18) A
19) A
20) C
21) D
22) A
23) E
24) E

Team Member #4
25) B
26) D
27) A
28) B
29) A
30) D
31) B
32) E



